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WIER EE#ATFRMEFECT2ZMRETE

£ g - AKTiE Bifr B 2 B i & #B w E
EEIEH 129,323,788
MiEIER 56,191,237 + 43,270, 885 99, 462, 122
HBEREE GD 44,503,941 + 10,847,320 + 839,976 56,191, 237
HBERHE (BLE) 44,503, 941
HBERER (F) 166, 625,509 x 6.51% ((4.38% x1.00 +2.00%) x 1.02) 10, 847, 320
BSRERESR 161,534,002 x 0.52% 839,976
RnEER 182,423,632 x 23.72% ((21.29% +1.74%) x 1.03) 43,270, 885
TR 129,323,788 + 99,462, 122 228,785,910
—REEEZ 225,694,517 x 15.34% (15.34% x 1.00) — 7,725 34,613,813
RFIIRELE 225,694,517 x 0.04% 90, 277
T &l 228,785,910 + 34,613 813 + 90,277 263, 490, 000
HBEREELE 263,490,000 x 10.00% 26, 349, 000
HAISE 263,490,000 + 26, 349, 000 289, 839, 000
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% L R - BRTiE By B = i S | i
EEIZE 129, 323, 788
B (-12m) 129, 323, 788
BEMRET 115, 229, 639
miELT 78, 462, 637
avsy—rEREL Q) AfFars)—+h 6, 494, 980
1 EEmEEL BT 343.00 15, 662 5,372, 066
m3
2 a9y )—bHSER HEWET 343.00 1,502 515, 186
m3
3 EEMEUEL ANDET 11.00 52,221 574, 431
m3
4 TRYEER ANDET 11.00 3,027 33,297
m3
avsy—rEREL Q) E\HH)—F 136, 320
5 EEMEEL BT 15.00 7, 886 118, 290
m3
6 Oy )—HSER |\ 15.00 1,202 18, 030
m3
avsy—rEREL Q) Ao 2o ) — bk CRED) 47,710, 963
7Tavy)—rElE NI EYIL. $25 L=200mm 562. 00 608 341, 696
fl
8 ETHILESERE - & 281.00 515 144,715
#H
9 BETHIESEHH 1.00 1, 256, 060 1, 256, 060
=
10 a9 )— kR T4 v ——tk 188. 00 148,194 21,860, 472
m2
11 EEYEEL 1,055. 00 15, 662 16,523, 410

m3
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avsy—rEEL Q) a9 ) — + (BRERER) 16, 198, 582

13 209)-MEIFL ZEFL#E. 6150 L=300mm 814. 00 7, 451 6,065, 114
A

14 3% ) — MR RRYIER t=300mm 2,594. 00 3,000 7,782,000
m

15 BEYEEL MM T 137.00 15, 662 2,145, 694
m3

16 3> )— A5 ER A 137.00 1,502 205, 774
m3

oV )—rEREL 4) |Ha ) — bk ELSD) 81,792

17 H#EEEiE L 9.00 7,886 70, 974
m3

18 3V )— A5 ER "5 9.00 1,202 10,818
m3

no e 7, 840, 000

19 K& #HHao)—+ 1,545. 00 5,000 7,725, 000
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m3
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BHEBE 12, 600, 459

21 E8EE (D KR 10m*K 7 2, 046. 00 3,102 6, 346, 692
m3

22 EHBE Q) K10~ 15mk i 1,224.00 3,427 4,194, 648
m3

23 A (L—X) B ER 3,270. 00 268. 1 876, 687
m3
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m3
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m

26 RIGFAE R R ORI - FE 44.00 8,914 392,216
t

271 BISHERR OB SER 44.00 895 39, 380
t

Z2JoOvoEE 7.5~12.5t 90, 675
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&

Z2JoOvoEE 12.5~22.0t 308, 625

29 Iy oEECRE) (2) THEE16.3t /@ 75.00 4,115 308, 625
&

Z2JoOvoEE 22.0~31.0t 125, 604

30 IRy IEE R (3) TyEE25.5t /@ 27.00 4,652 125, 604
&

Z2JoOvoEE 31.0~37.5¢ 68, 082

31 IRy uEE R 4) THEE31.6t /@ 14. 00 4,863 68, 082
&
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32 70y o #EE (RIRER) BEE1.91~9.56t/{@ 204. 00 39, 204 7,997,616
&

HEMEE ¢ 406. 4mm 1,827, 601

33 BIHHRE - B 177.00 3,538 626, 226
PN

34 WIS LB FE. 10mmiL_E£20mmk i 227.00 3,780 858, 060
m

35 BRIHFHAE R R USRI - FE 35.00 8,914 311,990




BEANRE REET R KR 2mR B TE

£ L] g - Bk B BB B & #B mE
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HHE M= ¢ 609. 6mm : 819,675
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X
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m
39 BUGFEERR VI RTERL - FrE 21.00 8,914 187,194
40 JIZFE R R U X RER t 21.00 895 18,795
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4 BIBRERRUPXHEREA - FE 0.10 8, 405 840
42 BIEFE B R U X RER t 0.10 723.1 72
it = t=0mm W=350mm t 4,563
43 BIGHER R PR RIA - FiE 0.50 8, 405 4,202
44 BIEFEE B R U X6 R IER t 0.50 723.1 361
HKERE & 100mm t 29,421
45 BIGHE R R XA R - FriE 3.00 8,914 26,742
46 BIEFEE B R U X R IER t 3.00 895 2,685
RS BR4E 1, 000N t 117,708
47 REHRE KR UOXIEMIBIRA - G 12.00 8,914 106, 968
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t
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=
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t
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52 WIGFHE R R UM RIERA - FrE 2.00 8,914 17,828
t
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t
VESVERFE: T H=2, 400 (ME&E D) 876, 298
54 Y—5 X7z U RAEE 194.00 4,517 876, 298
m
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55 RAEERE 155.00 2,587 400, 985
m
RE LB 158,075
56 {RBEHLVEE 25.00 6,323 158, 075
m
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m3
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m

25 RS B B ERR =) 124, 320

63 S4B HEL EHRR) 40. 00 3,108 124,320
m2

Bi5 HERS 684, 590

64 HERI 170. 00 4,027 684, 590
#m 2

85 SD345 D13 IR S #tigEs 1,404, 456

65 #5550 THASL LT 4,338.00 292 1, 266, 696
kg

66 IRIGEMMIAE Bl + AR, t=Tmm 41.00 3,360 137, 760

m
85 SD345 D16 TR S #tigEs 37,620
67 $&ARINTHASL fE EHET 132. 00 285 37,620
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Bl £ B0 B He 4R ST AR S 2,360,074
68 S A HHES FE (B R AR ) fE EiET 29900 10, 306 2. 360, 074
m2
Eilk = ABE 4R T 4 4 326, 190
69 AREE A AN EH KR f£LiET 30.00 10, 873 326, 190
m2
HiEB BEEE%. t=10mm 59 225
70 fefEE i 23.00 2,575 59, 225
m2
T oh—iN— D35x 1, 970mm 200, 050
N 7oh—nN—H%E N=224 330.00 95 31, 350
kg
12 7 oh—iN\—#$ SUS304 7.00 24,100 168, 700
.
avyy—+k 24N-8-20BB 4 818,780
13 a9 )— TR (EL) fgb. Ro TEHITHR 190. 00 25,362 4,818, 780
m3
I 2,630, 983
PHER KT 104, 039
BhEE Xt 3R 104, 039
14 THENE (BUKESE) 53.00 1,963 104, 039
B
EEE 2,526,944
EEE A#MEE @ERLS0~300ke/@E) 995 072
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m3
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£ b R - ARSTiE Bifss £ i & # wm =
X TR E 1,492, 608
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m3
TRYEER T 39, 264
71 &2 (L—X) 32.00 225 7,200
m3
18 LRYEEK T8 32.00 1,002 32,064
m3
BT 225,020
VAT 162, 684
YV—SRITITVRAKRE H=2, 400mm 162, 684
19 V=35 RITTVARKRE 18.00 9,038 162, 684
m
RKE+DS5T 61,436
XELDSHE iHEHE (34F) 41,520
80 Xt SHEE 60. 00 692 41,520
=
LHEER L&~ T HRES 19,916
81 tE%E 48.00 361.6 17,356
m3
82 BIHHA B R UM RIEA - FE 0.20 8, 405 1,681
t
83 MIEHRERRUZHARER RBETDOS5&E 0.20 4,399 879
t
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84 WHE KELDS5% 0.10 9,000 900
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EiE 2,623,968
RS B EW 2,602,938
85 M fRAENLIE sAa—549L—2150tR 1.00 2,602, 938 2,602, 938

=
K& B & L EER ZETE., ¢400 21,030
86 EEPh LLIEE R 1.00 21,030 21,030

=
FEBXMILERE 40, 393, 114
KEF AR ZETE ¢400 40, 393, 114
87 BEPHLLIERE 360. 00 6,136 2,208, 960

m
88 EEPHLLIERE 360. 00 5,720 2,059, 200

m
89 BAEMLIEEEH 1.00 36, 124, 954 36,124, 954

=
T8 1,486, 859
= KTiZ4Z10-PHY 1,005, 158
90 TiEZHE 1.00 424,320 424,320

=
91 STiR4Z - EBATHFEE 1.00 206, 438 206, 438

=
92 (TiEZHE 1.00 374, 400 374, 400

=
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93 RLeETHM L %E8h 1.00 481, 701 481,701
=
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BAEEY B BHET S8
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= it 1E%HEH : 1.00m 3 1,202 1,202
&5 .17
ZF:av o U—rEIFL NI EYIL, ¢25 L=200mm 100F.% Y
£ 7 R - BIRTiE BAGL 2 B Of | # B =
HEE&
A 0.30 25,410. 00 7,623
(e ES -
A 1.20 24, 780. 00 29, 736
LEEXE
A 0. 40 21,530. 00 8,612
HEEREH I BRI 2L B558) 2kVA
B 1.70 1,819.00 3,092
AR =L NOY
% 24.00 49, 063. 00 11,775
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% 5 R - AR R BAf = B {f £ # B &
EEFEEE
A 1.00 21,530. 00 21,530
P PR FEEDY
% 0.50 21,530. 00 107
= 5 1YEZHES - 42. 0048 515.00 21,637
&5 :9
ZFF : BT EMH 1RXHY
% 5 R - AR R BAf = B {f £ # B =
Foh—RIL b+ M20 L=250mm (5Eimd5° Hhyh)
#2 562. 00 347.00 195,014
BEEH T D19F
ZN 562. 00 483. 00 271, 446
ETRLEEE L-150 % 150 x 12
& 84.00 9, 400. 00 789, 600
= it 1YE%HeH - 1.00K 1, 256, 060. 00 1, 256, 060
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B 1.00 11, 040. 00 11, 040
REE Ny (TR I R)
B 1.00 4,694.00 4, 694
74 X-Y-
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HEBIT o h— M12H
ZN 4.60 73.00 335
=7
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vk 1.00 4,946. 00 4,946
j’_ 1)—
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gy b
® 6.00 2, 260.00 13, 560
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= 5 1E%HES : 95.00m 3 3,102.00 294,730
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% 0.50 293, 264. 00 1, 466
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H5:23
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t 1.000 8,914 8,914
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